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Exam I General Chemi f
Name yé.pﬁq/ / /
.7 xe
Please show work for partial ditand full credithfithe Long Answers and in some of the Short Answer Questions. Multip

choice questions have no partial credit.  Please write anything you want graded legibly.  IfI cannot read your work, I
obviously cannot grade it. (1 pts print and sign exam) If you run out of space, please continue on the back page of the

exam and clearly tell me where the remaining answer can be found. Avogadro's number = 6,022 x 1023

Part] MULTIPLE CHOICE. Choose the one alternative that bes tes the stafement or ang e.qu\estion. No
partial credit for MC. (2 pts per question, 24 pts pts total) }/] (} ’ ﬂ’,y\( R C/Y‘ Q/{I 74_ }_/)

1) Determine the rumber of protons, neutrons and electrons in the following: ) B 1) C
ggx gy‘f':flf‘ﬂmj ;WG: h{}/bbh"mf\ e”: e/Q O’@fé%j

A)pt=29 n°=36 e-=36 i
B) p* =29 n® =29 e =36 ~ 7/
@p+=29 n° =36 e =29 —3 6§"2’ﬁ ﬁg* ;!
D}p*=36 n°=29 e~ =36

E)p*=36 n°=36 e =29

2) How many significant figures are in the measurement, 463.090 m? | 2) [)
A)5 B) 2 Q)4 ) @))6 E)3

3) Two or more substances in variable proporfions, where the composition is variable throughout are 3) *\C
A} an amorphous solid..
B) a compound.
C) a homogeneous mixture.
D} a solution.
®- '
)2 heterogeneous mixture.

4) The statement, "In a chemical reaction, matter is nefther created nor destroyed™ is called 4) /‘/712‘
Althe Law of Conservation of Mass.
B) the Law of Multiple Proportions.
C) Daltor's Atomic Theory.
D) the Law of Definite Proportions.
E) the Scientific Method.

5} Which of the following elements is a alkali metal? _ 5} D
A)N B) Be Q) Ce @K L E) Br
6) Which of the following elements is a nonmetal? &) C

N\

A) ;{ C B) Be @»N D) Ce E) K

D

7) Which of the following contains the FEWEST atoms? You shouldn’t need to do a caleulation here.  7)
A)10.0g Na B) 10.0 g Ar ©ho.0gCs D) 100 Li E) 10.0 g Kr
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8} The recommerfded adult dose of Ehxophy]lm® a drugused to treat asthma, is 6.00 mg / 1000 g of 8} e

body mass, Calculate the dose in mﬂhgrams for a 115-1b person. 1 Ib = 453.59 g.

. | 3}
Poayae E By15 | ) 1,521 D)3.1x 105 (B a1
i _
9) The factor 10~ ? corresponds to which prefix? 9) [ é
A) deka i _ C) mdlli C) centd D) dedi
10) NOp is an example of ' 10) C,
A)a heterogeneous mixture, B) an element.
Cla compound D) a homogeneous mixture.
11) Identify a cahon ' 11) 4"

(E) An atom: that has lost an electron.

) An atom that has gaired a neutron.
C) An atom that has Iost a proton and a neutron.
D) An atom. that has gained an electron.

12) Which of the fqllowing are examples of physical change? 12) 6
A} saltis dissolved in water
B) water (solid) to water {(liquid)
C) water freezes
D) relt solidjgold to liquid gold
@ ).All of theseare examples of physical change.
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Part II Short Answer: Whrite the word or phrase or tircle the choice that best completes each
statement or answers the question. Some questions may require that you show work. If you do not
show work, you may lose points. Even on questions which de not require work, if you legibly show
work, you may get some partial credit. (42 pts)

1 From the given list, circle ali compounds. You may want to look at the periodic table if you are
unfamiliar with the symbols for the elements. (5 pts, L pts each)

SR
F. Si0, K H,

2 Sand in water is an example of a [ ( homogenous) or(heterogenous) ymixture (circle one). (2 pts)

- =N
3 metric conversions (6 pts, 2 pts per blank) Sﬁ( ¢ 0 ’ O O \ ’-’/

(&  onoKileLiter= /;OO 0 L

(b) rewrite what you wrote in (a) as 2 possible conversion factors with a numerator and denominator

(put the numerator over the line and the denominator under the line)
1- J/

Conversion factor #1 = :L K/G i / 000 /(
(o | [ 40
4 If the number that comes out of your calculator is the following, give the final correct o

. ! 1
5 For the following either fill in the blank with the elément symbol or the word for the element name. (I
do not count off for small spelling errors in naming elements.) (6 pts, 3 pts each)

X 0’) 0 é(( g{l Lw}.x nitrogen /\/
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6. Fill in the blank with ome of the following letters which best fits the circled portion of the periodic
table. The lotters may be used once, many times or not at all: (6 pts total, 3 pts each)

(a)transition metal elements  (b) chalcogen (c) main group element (d) alkali metals
(e) actinide / lanthanide (f) alkaline earth etals\(g) transition metal element  (h) halogens
o]

[

7 L
K OL }\@ Periodic Table of the Elements
.‘.'L : ’ E T Wk Fa 3

S -

B MR
Gfee [ . \ alé|n|o|f|m).
e o . -

3 %8 L E e T
(MalMeing 40 S8 gp g T 1o agLAISLTIS|SIA
5 e I AR F A R AT FA A A
ElG|sc| TV |G| fc|Ca|Ni|Co(Zo|Ga|Ge|Ac]Se|Be|Xr |
P A A R R ARG B AR P PR g P o] A R
e AR A FR A A e s
oo | % | 2| | M| Te | B | B |0d [ (G| Sl Te) T |2
X B AR AL bR P hed [ SR AR F-A EEA LY MR 4
e e e e P P =
Cs[Ba |La |H[!Ta! W (ks |Cx HP(MH&TI Ph [ Bi [ Bo [ AL [Rn

Be|le RO W IE| G R LR pey

= e = &

B[4 ] : o] |3 o=

Ble
s
lsd
35
b
¥4
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7. For the element B

Group number is (a) [ (2) or @ (circle one)

Period number is (b) [ (2) )r (IIA) | (circle one) (4 pts, 2 pts each)

8, Complete the following for the element given by consulting the periodic table: Ca has (10 pts, 1 pt

each blank)
atomic mass 4& O( O 7 (5; (give #) atomic number 2_. U (give #)
# protons 7 O (give #) # electrons (for neutral atoms) 2.0 (give #)
# neutrons | LO ‘ ( (givé #). (shm;v work for last part) (1 pt show v»;ork)

b0.1— z0= 201

(show work or explain) (1 pt -

charg_e on the element (ir_l its most common ionic state) is + ’Z’ L
show work) %V__ __[_—(’_/QL—* C/’\c’ ;= 2?72?: 2 =+
A 7
C i lefd 4

The molar mass of the element is /} () O 7 ¥ #A_ (give number).
v =4 ..

_ 2.5
A mole of the element above has 67 . ( ]7]& /7 atoms (give number).
L At L
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Part TI. Long Answer Please show work for full credit and to receive partial credit. (34 pts)
sx#= Please attempt every problem for partial credit. You will get no partial credit if you just rewrite
the question with no change in anything.®***

1 . Convert the following using dimensional analysis. Show work for partial and full credit. If you

come up with the final correct numerical answer but show no work, you will lose all points. (17 pts)

Convert 1.72 cups to grams (use density as a conversion factor, density = 1.00 grams /mL) (1.06 liter =
quart, 4 cups = 1 quart)
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2 Use the definition of the mole to answer this question. Show work for partial and full credit. Ifyou
come up with the final correct numerical answer but show no work, you will lose all points. (17 pts)

If you have a block of gold (Au) which weighs 73.5 pounds, how many atoms of gold do you have in your
block of gold 7 (453.6 grams = one peund, 6.022 x 107 = Avogadro’s number)

[J sl i = (96,97 g #ams S

ol = 0027 oY putos P
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Exam I General Chemistry I Lecture Spring 2014 1/28/14 THW am #
Name E. Iny (print) Name ‘A/ /qﬁ — /? (7 7[_’ V/; ’%)Z Lo g,({ign)
; 7 v ‘_;{__/

Please show work for partial credit and full credit on the Long Answers andT5ome of the Short Answer Questions. Multip
choice questions have no partial credit.  Please write anything you want graded legibly.  If I cannot read your work, I
obviously cannot grade it. (1 pts print and sign exam) If you run out of space, please continue onthe back page of the

exam and clearly tell me where the remaining answe:, c Muniﬁ%@gadfwm%er 6.022 x 1023
Cne P L(J +

Part] MULTIPLE CHOICE:-Choosé the one alternative tha sfatement or answers the question. No
partial credit for MC. (2 pts per question, 24 pts pts total) .

1) Identify a cation. 1) D
A) An atom that has lost a proten and a neutron.
B) An atom that has gained an electrorn.
C) An atom that has gained a neutror.
@ An atom that has lost an electron.

2) Wh:ch of the following elements is a alkali metal? 2) 'L}
@ K B) Ce O N D) Br E) Be

3) The statemén’r, "It a chernical reaction, matter is neither created nor destroyed” is called 3) (:{Z
A) the Scientific Method. ~

BT the Law of Conservation of Mass.
the Law of Multiple Proportions.

D} Dalton's Atomic Theory.

E) the Law of Definite Proportions.

4) How many significant figures are in the measurement, 463.090 m? 4) Z),
(be B) 4 Q2 D)5 E)3

5) The recommended adult dose of Elixophyllin®, a drug used to treat asthma, is 6.00 mg /1000 gof  5) Q
body mass. Calculate the dose in milligrams for a 115-1b person. 1 1b = 453.59 g.

A) 24 B) 15 @‘@13 D) 3.1 % 103 E) 1,521
6) NO2 is an example of . . . 6) D .
A) an element. B} a homogeneous mixture.
C) a heterogeneous mixture. compound.
7} Which of the following elements is a nonmetal? 7) {
AJK B)PE C_; C) Be D) Ce @ N

8) Two or more substances in variable proportions, where the composition is variable throughoutare 8} //é
A) a homogeneous mixture. .
@ a heterogeneous mixture.
C) a solution.
D) a compound.
E) an amorphous solid..
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9) W]:uch of the foHOng contains the FEWEST atoms? You shouldn't need to do a calculation here.
A) 0.0gCs; B) 10.0 g Lt C) 100 g Ar D)10.0 g Na " E)100gKr

10) Which ofithe foHOng are exemmnples of physical change?
A) water (sohd) to water (liquid)
B) saltis d1ssolved in water
C) melt sohd gold to liquid gold
) water freezes
CE}?AH of these are examples of physical change.

11) The factor 10-3 corresponds to which prefix?
(A milli ! B) deka Q) deci D) centi
12) Determirte the iumber of protons, neutrons and electrons in the following:
65 i
297 :
A)pr=29 | n°=36 e =36
B)pt=36 | n°=29 e~ =36
Q) p*=36. ! n°=36 e =29
O)pr=29 | =36 e =29
E)p*r=29-1 n°=29 e~=36
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PartII Short Answer* Write the word or phrase or circle the choice that best completes each
statement or answers the question. Some questions may require that you show work. If you do not
show work, you may lose points. Even on questions which do not require work, if you legibly show

work, you may get some partial credit. (42 pts)

1 From the given list, circlg® ements You may want to look at the periodic table if you are unfamiliar
with the symbols for the elements. pts each) _

@ 505 @ Q AICk

Sand in water is an example of a [ {fieterogenots) or (homogenous)] mixture (circle one). (2 pts)

3 metric conversions (6 pts, 2 pts per blank)

(2) / N0 CentiGram = one gram
(b)  rewrite what you wrote in (a) as 2 possible conversion factors with a mumerator and denominator

(put the numerator over the lineandt wmaiammdM
(/@;ﬁ radod Lons HT T

Conversion factor #1 = / a0 C o ,Q/

{ 7 .
4 If the number that comes out of your calculator is the following, give the srect number-talda;
into account the 51gmﬁcant figure and rounding up rules. Show work. (3 pis

467 202402 -1 227) 1.95503
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6. Fill in the blank with one of the following letters which best fits the circled portion of the periodic
table. The letters may be used once, many times or not at all: (6 pts total, 3 pts each)

(b) chalcogen (c) main group element (d) alkali metals

(a)transition metal elements
(h) halogens

(e) actinide / lanthanide (f) alkaline earth metals (g) transition metal element

()

' i

Periodic Table of the Elements

= T AT
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AERE AR R ERE A AR AT K]
s | & ¥ | 2|0 M| Te | Rn|mb | Pi [Ag |Cd [ fa|Sn|Sb|Te | 1]
BB |5 || B o] 20 | g | ot beprd s || g | | i | e | i Lo
R o e R A i St e s I R B i
blGs hIAHfT:WP.:OsIrP:AnHEHFhBiPaﬂRn
RSN Lo PR R [ PR A G -8 18 |l 4 =
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v o m | P

7. Forthe element Na

Period number is (2) (3)ﬁl @ (circle one)
Group number is (b) [@(aﬁ*de one) (4 pts, 2 pts each)

8. Complete the following for the element given by consulting the periodic table: As has (10 pts, 1 pt
each blank) -

atomic mass q 4 . 9 2 /6 (give #) atomic number 3 5 (give #)
' ‘ 2
# profons Z) % (give #) . #electrons (for neutral atoms) / 3 (give #)

4 »
# neutrons (give #). (show work for last part) (1 pt show work)

e G

charge on the element (in its most common ionic state) is HZ (show work or explain) (1 pt
r'd [

show work) %L’Aﬁl"f 7 4 — j—; _OD — _‘} @74/&0\

The molar mass of the element is '7 4 G L [ (give number).

A mole of the element above has (_0»()7 1 ?{/ s ) atoms (give number).
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Part IIL. Long Answer Please show work for full credit and to receive partial credit. (34 pts)
xxx* Plaase attempt every problem for partial credit. You will get no partial credit if you just rewrite
the question with no change in anything.****

1 Convert the following using dimensiohal analysis. Show work for partial and full credit. If you
come up with the final correct numerical answer but show no work, you will lose all points. (17 pts)

Convert 32.55 pounds to liters (use density as a conversion factor, density = 4.22 grams / mL) (453. & grams
= pound)

2295 [Jp — ,QMQ/“”

el
; gy(g}@( haiy (et

5 ‘&:'7—4::&’1

7

(i 55 &@1\1\}‘75

h ot Qgﬁla Lot
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2. Use the definition of the mole to answer this question. Show work for partial and full credit. Ifyou
come up with the final correct numerical answer but show no work, you will lose all points. (17 pts)

If you have a necklace made of solid silver (Ag) which weighs 19.2 ounces, how many atoms of Ag do you
have in your necklace ? (16 ounces = 1 pound, 453.6 grams =1 pound, 6.022 x 10% = Avogadro’s number)

ov- halt wrez
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B = p ot gllerted
Exam 1 General Chemistry I Lecture Spring 2014 1/28/14wTuede_.__
Name, i@/{//\/ (print) Name /I) } /(/: /7 /) L) D7 k- 1 stgn)

; &___”’:_’_________-/

J

Please show work for partial credit and full credit on the Long Answers and in some of the Short Answer Questions. Multip
choice questions have no partial credit. ~ Please write anything you want graded legibly.  IfI cannot read your work, I
obvicusly cannot grade it. (1 pts print and sign exam) If you runout of space , please continue on the back page of the

exam and clearly tell me where the remaipi g answer can be found.—Avegadro's-ramiber = 6. 023

swers the question. No

¢ v
Part1 MULTIPLE CHOICE. Cl'toose@tione,gtgnaﬁve/mat b
partial credit for MC. (2 pts per question, 24 Pts pts total)

1) Ag is anexample of 1) F
A) a compound. B) a heterogeneous mixture.
@\an elemeni. D) a homogeneous mixture.

2) Which of the following are examples of physical change? 2) ?

A) salt is dissolved in water
B) melt solid gold to liquid gold
C) water freezes
D) water (solid) to water {liquid)
‘ @Aﬂ of these are examples of physical change.

3) The recommended adult dose of Elixophyllin®, a drug used to treat asthma, is 6.00 mg/1000gof  3) —D
body mass. Calculate the dose in milligrams for a 115-1b person. 1 =453.59 g.

A)15 B) 1,521 C) 24 @)313 E) 3.1 105

4} Todine belongs to the ._group of the pericdic table. 4) (7 P
A) alkaline earth metal B) alkali metal
@halog&n D) noble gas

5) What symbol is used to represent the factor 1037

_ 8) Determine the number of protons, neutrens and electrons in the following: 8) -7_/:
40, o
18
A) pt=22 n° =18 e~ =18
B) pt =18 n®=18 e~ =22
C)pt=40 n’=22 e =18
Dipt=18 n°=22 e =40
@p*:lB n°=122 e =18

Dr. Hehn General Chemistry I Lecture Exam 1 Spring 2014 ~ 9:55am form A page 1



Lo left of Méﬂ//m(/ /Ag)

9) Which of the fc%llowing elements is a metal? (

| .
A) 3 1 B) Kr C) As @Fe F) Br
10) A substance that can't be chemically broken down mto simpler substances is 10) @
A)a homogeneous mixture. -
‘\ an element

Ca heterogeneous mixture.
D) a-compound.
E)an electroin.

11) The statement, 3]_'11 a chemical reaction, matter is nefther created nor destroyed" is called 11) —D
A) Dalton’s Atomic Theory.
B) the Scientfic Method.
theLaw o:f Definite Proportions.
Oy theLaw 't;;f Conservation of Mass.
E) theTaw _gf Multiple Proportions.

1
12) Tdentify an anign. ' 12) !@
A) An atom that has gained a neutron.
@)An atom that has gained an electron.
C) An atom t}'lat has lost an electron.
D) An atom _that has lost a neutron and a proton.

| ' 23
Wﬁ 1722 @46 Lo 6 00 10 teoe
“ e
UM’%Q 20,24 of Me Lov 602X/ LA S
k— @Mmj'w%% [oest gtin,
ﬂ\ﬂ\ﬁf \ L }”’\@ + ;’f)ﬂ!’(ﬁoqj C@

Same WASS (NO

A . M - 3/3
7) 9 5.5 ¢ ZQ/’/7C%
_@ (51|, GIatpglatiog o L

| [/l

,*Q‘_s,,

s

ye oo fe s
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Part IT Short Answer: Write the word or phrase or circle the choice that best completes each
statement or answers the question. Some questions may require that you show work. If you do not
show work, you may lose points. Even on questions which do net require work, if you legibly show

work, you may get some partial credit. (42 pts )

1 From the given list, circle all compounds. You may want to look at the periodic table if you are
unfamiliar with the symbols for the elements. (5 pts, 1 pts each)

AgBr) Fe i @ N,
A

2. Salt in water is an example of a [\@omogenousb or (heterogenouse) ] mixture (circle one) (2 pts)

3 metric conversions (6 pts, 2 pts per blank)
(a) L/ C\ [‘/) /O MilliMeters = one meter

(b) rewrite what you wrote in (a) as 2 possible conversion factors with a numerator and denominator (put
the numerator over the line and the dencminatorterthe 1iie) w
ded Cnsisteat @

Mﬂ/" ——)/

Conversion factor #1 = { O OD A Conversion factor #2 = ( ln/\

|~ /IQUQW\/%

4 If the number that comes out of your calculator is the following, give t 1] correct number taks
into account the significant figure and rounding up rules. Show work. (3 p C]%(g 9% 85( 9{5 )f e
14,
(300.2— 1.777)/ 1.2 =248.685833 (. (’L_k\_,, Py [ DN :
S e oy LY s b8
Ayl [ 973

Ly “ L/Js;gé/f @\62[07/

5 For the following either fill in the bla Lo

o

with the element symbol or the word for the element name. (I
do not count off for small spelling errors in naming elements.) (6 pts, 3 pts each)

copper f,[,x




6. Fill in the blank with one of the following letters which best fits the circled portion of the periedic
table. The letters may be used once, many times or not at all: (6 pts total, 3 pts each)

(a)transition metal elementé (b) chalcogen (c) main group element (d) alkali metals
(e) actinide / lanthanide (f) alkaline earth metals (¢) transition metal clement  (h) halogens

@0’1’
Periodic Table of the Elements : 01)
3 . T8 20
H ) . W] - K

Pl T | Th VA g e liem
el - _ Blc|n|o|F|n|.

ale . 8 Eix

S TE i L1 P TR

slblalr 8 e e AEIEISGE

- AR RAEERREERS
o | £ et x| sctar | e |xmen] e Jrrcn] el o | o)) otz | 30 [Hen)nx | e las

[ & NI | Z (2| ve | Te |Bu | Rbjed Ay | GO0 | S| R e L2

- o e Rl B L R B e =]
Llgsf|Be ar| To | W |Re | Cs| I | 2u |An | Mg (LTL]Fo BT [To | At[Rn

‘ BB AR T [d (A%
o R e il |, e e REE
WalalE2[algBEEZI21 (& 2 L

_’/‘

/\ 0 T [ » Tw w
Er {Tm (Y5 |Lu

. 7 | B B [T 0 |1,

S s el o3

' Fox {3d |ba | L

P 7 ke )

: =z
7. Forthe element Se the Period number is (a) | (é% or (VIA) | (circle one) the Group number is (b) [ (4}
0 (VL’-‘D,-, (circle one) (4 pts, 2 pts each)

8. Complete the following for the element given by consulting the periodic table: Ge has (10 pts, 1 pt

each blank)
atomic number %g L (give #) atomic mass 7& i Q { (give #)
# protons ,)1 L (give #) # electrons (for neutral atoms) ﬂ_ (give #)
# neutrons L,L [ _ (give #). (show work for last part) (1 pt show work,

gL T — — /

=1 - /)l( Q} ) 272- - L%O;/L;
B e , |

charge on the element (in its most common ionic state) 1s 71”4 " ((/ (show work or explain) (1 pt

show vwork) C“’e, i 2 Ay TIE C gw(/zf bo T4 (+ Wﬂ/)ﬂ#
e |

The molar mass of the element 1s 17 7 | é) / %(.give number).
e ey

_—_— S
A mole of the element above has \/,j l 0 Ll Yn/ [/ atoms {give number).
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Part XII. Tong Answer "Please show work for full credit and to receive partial credit, (34 pts)
x=%x Please attempt every problem for partial credit. You will get no partial credit if you just rewrite
the question with no change in anything,****

1 Convert the following using dimensional analysis. Show work for partial and full credit. Ifyou
come up with the final correct numerical answer but show no work, you will lose all points. (17 pts)

Convert 73.4 kiloliter / seconds to cups per hour (1.06 quart = 1 Liter, 4 cups = quart)

Theb 5 Y&

T N oV

G2
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7 Use the definition of the mole to answer this question. Show work for partial and full credit. If you
come up with the final correct numerical answer but show no work, you will lose all points. {17 pts)

If you have a piece of pure platinum (Pt) which occupies a volume of 1.73 cups, how many atoms of Pt do
you have if the densn:gr of Ptis 21.4 g/ mL (use density as a conversion factor)? (4 cups = 1 quart, 1.06 quart
=1 Liter, 6.022 x 10 Avogadro s number)

7}&99 g uﬁﬁ;\ /iLJf %
@g Ao, /. 0(: JMW

”%m_
ey M;M, _,,,,,L@Jﬁ/

oS /z,ﬁﬁ Lkt
| 70 1q5.0%3 2 O
L s 01K 9{ 27
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Exam I General Chemistry I Lecture Spring 2014 1/28/14 Tuesday fo : B Dr.Hahn Exam#

Name K Dl (print) Nam /]/ﬁ:‘ //’ (' 71/ Q/&Méﬁgm)
=7 < Y

Please show work for partial credit and full credit on the Long Answers and in some of the Short Answer Questions, Multip

choice questions have no partia credit. ~ Please write anything you want graded legibly. If T cannot read your work, I
obviously cannot gradeit. (1 pts print and sign exam) I you run out of space, please continue on the back page of the

exam and deaﬂ)WngWWgaﬁds number = 6.022 x 1023

Part] MULTIPLE CHCHCE Choose the one alternative that best completes the me&t—en@\ers the question. No
partial credit for MC. (2 pts per question, 24 pts pts fotal =, 7 (A D < j
0T 3[63?’13 Tieed to do a calculation here. 1) e

1) Which of the following contains the MOST atoms?

A)10.0 g Mg B)10.0gCa C)10.0gb D)10.0gCs E}10.0 g Ne
2} Which of the following elements is a metal? ) 2) 6
A) As B) Kr , C)S D) Br (E) Fe
3) A sybstance that can't be chemically broken down into simpler substances is 3) /L}'
@m element.
B} a heterogenecus mixture.
C) a homogeneous mixture.
D} a compound.
E) an electron.
4) How many significant figures are in 0.00523980mL.? . 4) —G
N B) 4 Q3 D)5 (e
5) Whick of the following are examples of physical change? 5) (-:
A) water freezes
B} water {solid) to water {liquid)
() saltis dissolved in water
D)\melt solid gold to liquid gold
E of these are examples of physical change.
6) Jodine belongs to the group of the periodic table. , . 6) é;
A) alkaline earth metal Bphalogen i
Q) alkali metal D) noble gas
7) Determine the number of protons, neutrons and electrons in the following: 7) C
40 x
18
A)pt=40 n®=22 e~ =18
B) pt =22 n°=18 e~ =18
©p+=18 n®=22 e~ =18
D)p+=18 n°=22 e~ =40
E)p*=18 n°=18 e~ =22
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8) Ag is an example of .
A) a homogeneous mixture. @)an element.
C) a heterogeneous mixture. D} a compound.

9) What symbol is used to represent the factor 103?

A) micro

10) Identify an anién.

A) An atom
@An atom
C) An atom
D) Ar:atom

11} The gtatement,

B) nano C) Mega @kﬂo

that has lost an electron.

that has gained an electron.

that has gained a neutron.

that has lost a neutron and a proton.

{'In a chemical reaction, matter is neither created nor destroyed" is called

the Law c

f Conservation of Mass.

B) the Law of Definite Proporhons
C) Dalton's Atomic Theory.
D) the Scieritific Method.

E) the Law 9

12) The Iecommended adult dose of Elixophyllin®, a drug used to treat asthma, is 6.00 mg /1000 g of

body IMAss, Ca]

Q A)313

f Multiple Proportions.

culate the dose in milligrams for a 115-1b person. 1 1b = 453.59 g.
B} 24 C)3.1x1® D) 1,521 E)15

j
1
{
i
a
|
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Part I Short Answer: Write the word or phrase or circle the choice that best completes each
statement or answers the question. Some questions may require that you show work. If you do not
show work, you may lose points. Even on questions which do not require work, if you legibly show
work, you may get some partial credit. (42 pts )

1 From the given list, circle all elements. You may want to look at the periodic table if you are
unfamiliar with the symbols for the elements. (5 pts, 1 pts each)

AgBr @ @ CH: | Nz}

2 Salt in water is an example of 2 [ (heterogenous) or @i] mixture {circle cne) (2 pts)

3 metric conversions (6 pts, 2 pts per blank)

(a) { Oi ? O gram = one KiloGram

(b)  rewrite what you wrote in (2} as 2 possible conversion factors with a numerater-an: denominator
(put the numerator over the line and the denominatg - tHE Ol/rgc{ C j

51

Conversion factor #1 = / O O a 9’ t?’
| ko (090

4 If the number that comes out of your calculator is the following, give the final correct numbe
into account the significant figure and rounding up rules. Show work. (3 pts)

S € Ssighy

T

7%
| | &}5@
7_’/) Q%,]x%fj.&zijc,;ﬂ 55

5 For the following either fill in the blank with the element symbol or the word for the element na
elling errors in naming elements.) (6 pts, 3 pts each)

fiversion factor #2 =




6. TFill in the blank with one of the following letters which best fits the circled portion of the pertodic
table. The letters may be used once, many times or not at all: (6 pts total, 3 pts each)

(c) main group element (d) alkali metals

(2)transition metal elements  (b) chalcogen
(h) halogens

(e) actinide / lanthanide (f) alkaline earth metals () transition metal element

)

23

riodic Table of the

48
Ess

FEd

ol
L ]

R T L

vy O

F

HEElels

¢

g

R R BT

A pafipefesimd B

1 i3 eli i el (g o

Eg_u\;g:-.{z. I

T Y PR T

g (0 T -
s@ae o173
1EER
spafiE i s
ae i ol Faliam

i

O . T SR T TR )
prfiefiefisfeficli=

B
IR EDEIES

IF iR v R0l

o
R

H
L L
|BEIZ|:T

iy
ko EE“
Vi
walig -
5o
E %
B ]
EREL

Badind
i

7. Fortheglement P the Period number is (2) @u (VA) ] {(circle one) the Group number is (b) [ (3)
or zh (circle one) (4 pts, 2 pts each)

8. Complete the following for the element given by consulting the periodic table: Sr has (10 pts, I pt

each blark)
atomic mass /f‘) O \ @ L ' (give #) atomic number %ﬁ (give #)
. y ; 7 -
# protons % '_,5” (give #) # electrons (for neutral atoms) ; E (give #)
— )
# neutrons 5 O (give #). (show work for last part) ( 1 pt show wor

BIbL- 5= 4G 4L

charge on the element (in its most common ionic state) is _{' 2 (show work or explain) (1 pt

show work) 3"\/ ?,\/»%y j ﬁ» -——ﬁ @ )

The molar mass of the element is } O ’ é’ 2* 2; (give number).

. . _ 2}
A mole of the element above has (D ¢ 0 L L )(/ 0 atoms (give number).
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Part IT. Long Answer Please show work for full credit and to receive partial credit. (34 pts)
=xx# Pleage attempt every problem for partial credit. You will get no partial credit if you just rewrite
the question with no change in anything, ****

1 Convert the following using dimensional analysis. Show work for partial and full credit. If you
come up with the final correct numerical answer but show no work, you will lose all points. (17 pts)

Convert 27.88 milliLiter / hour to quarts per second (1.06 liter = 1 quart)

el 4 gt O

Vs 9. C

AT

&
171%/\ @%iz’ .\<
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5 Use the definition of the mole to answer this question. Show work for partial and full credit. Ifyou
come up with the final correct numerical answer but show no work, you will lose all points. (17 pts)

If you have a piece of pure iron (Fe) which occupies a volume of 25.7 gallons, how marny atoms of Fe do you
have if the density of the Fe is 7.86 g/mL (use density as a conversion factor) 7 (1.06 liter = 1 quart, 4
quarts = 1 gallom, 6 022 x 107 = Avogadro s number)

e

2k perily [ic [ el o= 93 9¢55 1%

(
‘) Fe @/EL@ | nid Te = G 022 (0 }[pﬁ@yf
e

55.5¢ 5 o ‘

A 106/ (00l %
snauf . U w/—-—/—”—ixf-——-f—f—w-
/4' ’ 2@4@ gt /%

—L : e

7/% & N8 < [ »}7(/(:—,@ GC)Q; )\/[/ A///)ﬂj ﬁ

|
~ AT 5F oo
| ke Te “f%X4§%{ | e (}%9
Gy @ @
pa
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Exam I General Chemistry I Lecture Spring 2614 1/28/14 Tuesday form8:30 A Dr. Hahn Exam #

Name (print) Name (sign)

Please show work for partial credit and full credit on the Long Answers and in some of the Short Answer Questions. Multip
choice questions have no partial credit.  Please write anything you want graded legibly.  Tf I cannot read your work, I
obviously cannot grade it. {1 pts print and signexam) Ifyou run out of space, please continue on the back page of the

exam and clearly tel! me where the remaining answer can be found. Avogadro's number = 6.022 x 1023

PartI MULTYIPLE CHOICE. Choose the gne alternative that best completes the statement or answers the question. No
partial credit for MC, (2 pts per question, 24 pts pts total)

1) Determine the number of protons, neutrons and electrons in the following: 1)
65X
29
Ayp*t=29 n° =36 e~ =36
B) pt =29 n®=:29 e~ =36
C)pt=29 n°=3% e~ =29
D} p+=36 n®=29 e~ =36
E)p+=36 n° =36 e- =29

2) How many significant figures are in the measurement, 463.090 m? 2)
A}5 B) 2 Q) 4 D)6 E) 3

3) Two or more substances in variable propertions, where the composition is variable throughoutare  3)
A} an amorphous solid..
B) a compound.
C) a homogeneous mixture.
D) a solution,
E) a heterogenecus mixture.

4) The statement, "In a chemical reaction, matter is neither created nor destroyed" is called 4
A) the Law of Conservation of Mass.
B) the Law of Multiple Proportions.
C) Dalton’s Atomic Theory.
D) the Law of Definite Proportions.
E) the Scientific Method.

5) Which of the following elements is a alkali metal? 5)
AYN B) Be C) Ce D)K E) Br

6) Which of the following elements is a nonmetal? 6)
AVEr (hf" B) Be C)N D) Ce E) K

7) Which of the following contains the FEWEST atoms? You shouldn't need to do a calculation here.  7)
A)10.0 g Na B)10.0 g Ar O 100gCs D)10.0gLi E)10.0 g Kx

Dr. Hahn  General Chemistry I Lecture Exam I Spring 2014 830formA  page 1
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8) The recommended adult dose of Elixophyllin®, 2 drug used to treat asthma, is 6.00 mg /1000 gof  8)
body mass. Calculate the dose in milligrams for a 115-1b person. 1 Ib = 453.59 g

A} 24 ; B) 1.5 Q) 1,521 D)3.1x 105 E) 313
9) The factor 10‘_:3 corresponds to which prefix? 9)
A)deka B) milli C) centi D) deci
10) NOp isan exa_imple of 10)
A)a hetérpfgeneous mixture. B) an element.
C) a compound. D)} a homogeneous mixture.
11) Identifya.cation. 11)

A) An atomi that has lost an electron.

B) An atom that has gained a neutron.

164] =An‘atom:' that has lost a proton and a neutron.
D) An atoxa;}?that has gained an electron.

12) Which of the ﬁi)llqwing are examples of physical change? 12}
A} saltis didsolved in water
B) water (sqlid) to water (liquid)
C) water freezes
D) melt solid gold to Liquid gold
E) All of mése are examples of physical change.

i

%
1.
vi

Dr.Hahn - General Chemistry I Lecture FxamI Spring 2014 8:30 form A page 2



Part II Short Answer: Write the word or phrase or circle the choice that best completes each
statement or answers the question. Some questions may require that you show work. If you do not
show work, you may lose points. Even on questions which do not require work, if you legibly show
work, you may get some partial credit. (42 pts)

1 From the given list, circle all compounds. You may want to look at the periodic table if you are
unfamiliar with the symbols for the elements. (5 pts, 1 pts each)

Fa 510, K H; AlCl;

2 Sand in water is an example of a [ ( homogenous) or {heterogenous) | mixture (circle one). (2 pts)

3 metric conversions (6 pts, 2 pts per blank)

(a) one KiloLiter = L

(b) rewrite what vou wrote in (&) as 2 possible conversion factors with a numerator and denominator
(put the numerator over the line and the denominator under the line)

Conversion factor #1 = Conversion factor #2 =

4 If the number that comes out of your calculator is the following, give the final correct number taking
into account the significant figure and rounding up rules. Show work. (3 pts)

(13.21+300.2)*2.6 = 814.866

5 For the following either fill in the blank with the element symbol or the word for the element name. (1
do not count off for small spelling errors in naming elements.) (6 pts, 3 pts each)

K nitrogen

Dr. Hahn  General Chemistry I Lecture  ExamI Spring 2014 form (8:30T,R form A) page 3




6. Fill in the blank with one of the following letters which best fits the circled portion of the periodic
table. The letters may be used once, many times or not at all: (6 pts total, 3 pts each)

(a)transition metal elements  (b) chalcogen (c) main group element {d) alkali metals
() actinide / lanthanide (f) alkaline earth metals g) transition metal element  (h) halogens

Periodic Tablé of the Elements

3 o (Y
)
R 4 s o | e
) I O

2|5 e BlEIN|[o]F|dk
, e o s .
T I AL AR AT
FURIME s 48 S5 o ns ! Tio 2gLAISLE[S |G |A
S TE TaTs e T T Ts (= Te Tr Tl e e s
Gl (G 1% [ Ti| ¥ & M de (& |Fi 16 |70 [Gal e |l |6 | Bl
i i i) e | | [ 5 e B0 E8 | 28 | S0 f G [ As [ B | Be | K
R T e T e e e e h [ T
oi2b s | ¥ | 7 [ [0k | 7o R gk Fa [ Ak G 2 e s [1] T |5
AR g R b B ) Ay A L R R - o A P
TR S T A |0 08 e e et o e
10 B2 |La |HE[Ta | W RefOa| I |2 fax Po | At [Ra
oy B | | P2 [ e | 5] S5 | [ B0 [ A | T EE LB R0 | A Kn
‘)F‘r AARERERREE ENEEL 0 " S
oo g | ARl BB o e | im]| Lm! P

R I =

M B

Lop ™ =

AR =

AN Py

7. Forthe element B
Group number is (a) [ (2) or (IIIA) | (circle one)

Period number is (b) [ (2) or (IITA) ] (circle one) (4 pts, 2 pts each)

8. Complete the following for the element given by consulting the periodic table: Ca has (10 pts, 1 pt

each blank)

atomic mass (give #) atomic number (give #)
# protons (give #) # electrons (for neutral atoms) (give #)
# neutrons (give #). (show work for last part) ( 1 pt show work)

charge on the element (in its most common ionic state) is (show work or explain) (1 pt
show work)

The molar mass of the element is (give number).

A mole of the element above has atoms (give number).
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PartIIl. Long Answer Please show work for full credit and to receive partial credit. (34 pts)
#x%% Please attempt every problem for partial credit. You will get no partial credit if you just rewrite
the question with no ‘change in anything.****

1 Convert the following using dimensional analysis. Show work for partial and full credit. If you

come up with the final correct numerical answer but show no work, you will lose all points. (17 pts)

Convert 1.72 cups to.grams (use density as a conversion factor, density = 1.00 grams /mL} (1.06 liter =
quart, 4 cups = 1 quart)

Dr. Hahn _:zGencrfjéia.l.ChemistryI Lecture  ExamI Spring 2014 form (8:30T,R form A) page 5



2 Use the defihition of the mole to answer this question. Show work for partial and full credit. If you

come up with the final correct numerical answer but show no work, you will lose all points. (17 pts)

If you have a block :o_f gold (Au) which weighs 73.5 pounds, how many atoms of gold do you have in your
block of gold ? (4§3.6 grams = one pound, 6.022 x 10% = Avogadro’s number)

'
1
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Exam I General Chemistry I Lecture Spring 2014 1/28/14 Tuesday form 8:30 B Dr. Hahn Exam ¥

Name (print) Name {sign)

Please show work for partial credit and full credit on the Long Answers and in some of the Short Answer Questions. Multip
choice questions have no partial credit,  Please write anything you want graded legibly.  If I cannot read your work, I
obviously cannot grade it. (1 pts print and sign exam) If you run out of space, please continue on the back page of the

exam and clearly tell me where the remaining answer can be found.  Avogadro’s number = 6.022 x 1023

PartI MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question. No
partial credit for MC. (2 pts per question, 24 pts pts total)

1) Identify a cation. 1)
A) An atom that has lost a proton and a neutron.
B} An atom that has gained an electron.
C) An atom that has gained a neutron.
D) An atom that has lost an electron.

2) Which of the following elements is a alkali metal? 2)
MK B} Ce O N D) Br E) Be
3) The statement, "In a chemical reaction, matter is neither created nor destroyed” is called 3)

A) the Scientific Method.

B) the Law of Conservation of Mass.
C) the Law of Multiple Proportions.
D) Dalton's Atomic Theory.

E} the Law of Definite Proportions.

4) How many significant figures are in the measurement, 463.090 m? 4)
A)6 B)4 Gz D)5 E)3

5} The recommended adult dose of Elixophyllin®, a drug used to treat asthma, is 6.00 mg /1000 g of  5)
body mass. Calculate the dose in milligrams for a 115-1b person. 11b=453.59 ¢.

A) 24 B) 1.5 C) 313 D) 3.1x105 Ey 1,521
6} NO3 is an example of 6)
A} an element. B) a homogeneous mixture.
C) a heterogeneous mixture, D)} a compound.
7) Which of the following elements is a nonmetal? 7)
rd *
AKX B)){ Cr C) Be D) Ce E}N

8) Two or more substances in variable proportions, where the composition is variable throughout are  8)
A) a homogeneous mixture.
B) a heterogeneous mixture.
C) a solution.
D) a compound.
E) an amorphous solid..

Dr. Haln  General Chemistry I Lecture Exam I Spring 2014 830 formB  page 1
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9) Which of thefollowing contains the FEWEST atoms? You shouldn't need to do a calculation here.
B)10.0gLi

A)10.0gCs

10) Which of the following are exarmples of physical change?

A) water (solid) to water (liquid)
B} salt is dissolved in water

C) melt solid gold to liquid gold
D) water fteezes

E) All of these are examples of physical change.

11) The factor 1053 corresponds to which prefix?
B) deka

A)milli .

12) Determine the number of protons, neutrons and elactrons in the following:

65
297

A)p+=29°
B) p* =36 :
C) p* =36
D) p* =29 «
E) p* =29 ,

i

Dr.Hahn  General Chemistry I Lecture Exam Spring 2014

n® =36
n®=29

n°=236

n® =36
n®=29

e =36
e~ =36
e~ =29
e~ =29
e~ =36

D)10.0 g Na

E) 10.0 g Xr
D) centi
8:30 form B page 2

10)

11)

12)



PartII Short Answer: Write the word or phrase or circle the choice that best completes each
statement or answers the question. Some quesfions may require that you show work. If you do not
show work, you may lose points. Even on questions which do not require work, if you legibly show
work, you may get some partial credit. (42 pts)

1 From the given list, circle elements. You may want to look at the periodic table if you are unfamiliar
with the symbols for the elements. (5 pts, 1 pts each)

F, Si0, K H, AlCl;

2 ’4 Sand in water is an example of a [ (heterogenous) or (homogenous)| mixture (circle one). (2 pts)
3 metric conversions (6 pts, 2 pts per blank)

(a) CentiGram = one gram

(b)  rewrite what you wrote in (a) as 2 possible conversion factors with a numerator and denominator
(put the numerator over the line and the denominator under the line)

Conversion factor #1 = Conversion factor #2 =

4 If the number that comes out of your calculator is the following, give the final correct number taking
mto account the significant figure and rounding up rules. Show work. (3 pts)

467.2/(240.2 -1.227)=1.95503

5 For the following either fill in the blank with the element symbol or the word for the element name, (I
do not count off for small spelling errors in naming elements.) (6 pts, 3 pts each)

Cl sodium

Dr. Hahn General Chemistry I Lecture Exam I Spring 2014 form (8:30 am Tues, Thurs B) page 3



6. Fill in the blank with one of the following letters which best fits the circled portion of the periodic
table. The letters may be used once, many times or not at all: (6.pts total, 3 pts each)

(a)transition metal elements  (b) chalcogen (c) main group element (d) alkali metals
(e) actinide / lanthanide (f) alkaline earth metals (g) transition metal element  (h) halogens

Periodic Table of the Elements

: YO w4
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7. Forthe element Na
Period number is (a) { (3) or (TA} ] (circle one)

Group number is (b) [ (3) or (IA) ] (circle one) (4 pts, 2 pts each)

8. Complete the following for the element given by consulting the periodic table: As has (10 pts, 1 pt

each blank)

atomic mass (give #) atomic number {give #)
# protons (give #) # electrons (for neutral atoms) (give #)
# neutrons (give #). (show work for last part) ( 1 pt show work)

charge on the element (in its most common ionic state) is (show work or explain) (1 pt
show work)

The molar mass of the clement is (give number).

A mole of the clement above has atoms (give number),
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Part I Long Answer Please show work for full credit and to receive partial credit. (34 pts)
*%%% Please attempt every problem for partial credit. You will get no partial credit if you just rewrite
the question with no change in anything, **%*

1 Convert the, followmg using dimensional analysis. Show work for partial and full credit, If you
come up with the final correct numerical answer but show no work, you will lose all points, (17 pts)

Convert 32,55 pounds to liters (use density as a conversion factor, density = 4.22 grams / mL) (453.2 grams
= pound) .

Dr. Hahn Gnnqral}(;ﬁemisnyl Lecture Exam 1 Spring 2014 form (8:30 am Tues, Thurs B) page $
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2. Usethe deﬁ:nition of the mole to answer this question. Show work for partial and full credit. If you
come up with the final correct numerical answer but show no work, you will lose all points. (17 pts)

If you have aneokliqce made of solid silver (Ag) which weighs 19.2 ounces, how many atoms of Agdoyou -
have in your necklace ? (16 ounces = 1 pound, 453.6 grams = 1 pound, 6.022 x 10% = Avogadro’s number)

Dr. Hahn General themishyl Lecture ExamI Spring 2014 form (8:30 am Tues, Thurs B) page 6
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Exam I General Chemistry I Lecture Spring 2014 1/28/14 Tuesday form 9:55am A Dr. Hakn Exam #

Name (print) Name (sign)

Please show work for partial credit and full credit on the Long Answers and in some of the Short Answer Questions. Multip
choice questions have no partial credit.  Please write anything you want graded legibly.  IfI cannot read your work, I
obviously cannot gradeit. (1 pts print and sign exam) If you rum out of space, please continue on the back page of the
exam and clearly tell me where the remaining answer can be found. Avogadro's number = 6.022 x 1023

PartI MULTIPLE CHOICE. Choose the one altemative that best completes the statement or answers the question. No
partial credit for MC. (2 pts per question, 24 pts pis total)

1) Ag is an example of 1)
A} a compound. B) a heterogeneous mixture.
C) an element. D) a homogeneous mixture.

2) Which of the following are examples of physical change? 2)

A) salt is dissolved in water

B) melt solid gold to liquid gold

C) water freezes

D} water (solid) to water (liquid)

E} All of these are examples of physical change.

3) The recommended adult dose of Elixophyllin®, a drug used to treat asthrma, is 6.00 mg/1000gof  3)
body mass. Calculate the dose in milligrams for a 115-1b person. 11b = 453.5 g.

A)15 BY 1,521 G 24 D) 313 E)3.1x 105
4) Todine belongs to the group of the periodic table. 4)
A) alkaline earth metal B) alkali metal
C) halogen D) noble gas
5) What symbol is used to represent the factor 105? 5)
A) Mega B) kilo C) nano D} micro
6) Which of the following contains the MOST atoms? You shouldn't need to do a calculation here. 6)
A)10.0gRb B)10.0gCs G 100gCa D) 10.0 g Ne E)10.0g Mg
7) How many significant figures are in 0.00523980 mL? 7)
A)3 B) 4 Q)5 D)7 E)6
8) Determine the number of protons, neutrons and electrons in the following: 8)
40 X
18
A)pr=22 n®=18 e~ =18
B) p*=18 n°=18 em=22
C) pr=40 n®=22 e-=18
D) pt =18 n®=22 e= =40
E)p+ =18 n® =22 e~ =18
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9) Which of the following elements is a metal? 9)
A)S ' B) Kr C) As D) Fe E) Br
10} A substance that can't be chemically broken down into simpler substances is 10)

A) a homogeneous mixture.
B) an element.

Cla heterqueneous mixture.
D) a compound.

E) an electron.

11) The Statemen’:t, "In a chemical reaction, matter is neither created nor destroyed” is called 11)
A) Daltor's Atomic Theory.

B) the Scientific Method.

C) the Lawiof Definite Proportions.

D) the Lawof Conservation of Mass.

E) the Lax«ﬁof Multiple Proportions.

12) Identify an anion. 12}
A) An ator that has gained a neutron.
B) An atomf that has gained an electron.
C) An atopﬁthat has lost an electron.
D) An atomj that has lost a neutron and a proton.

L
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Part II Short Answer: Write the word or phrase or circle the choice that best completes each
statement or answers the question. Some questions may require that you show work. If you do not
show work, you may lose points. Even on questions which do not require work, if you legibly show
work, you may get some partial credit. (42 pts)

1 From the given list, circle all compounds. You may want to look at the periodic table if you are
unfamiliar with the symbols for the elements. (5 pts, 1 pts each)

Aghr  Fe Si CH: Ny

2. Salt in water is an example of a [ (homogenous) or (heterogenouse) ] mixture (circle one) (2 pts)
3 metric conversions (6 pts, 2 pts per blank)

(a) MilliMeters = one meter

(b) rewrite what you wrote in () as 2 possible conversion factors with a numerator and denominator (put
the numerator over the line and the denominator under the line)

Conversion factor #1 = Conversion factor #2 =

4 If the number that comes out of your calculator is the following, give the final correct number taking
into account the significant figure and rounding up rules. Show work. (3 pts)

(300.2—-1.777)/ 1.2 =248.685833

5 For the following either fill in the blank with the element symbol or the word for the element name. (I
do not count off for small spelling errors in naming elements.) (6 pts, 3 pts each)

F copper
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6. Fill in the blank with one of the following letters which best fits the circled portion of the periodic
table. The letters may be used once, many times or not at all: (6 pts total, 3 pts each)

(a)transition metal elements  (b) chalcogen {c) main group element (d) alkali metals
(¢) actinide / lanthanide (f) alkaline earth metals (g) transition metal element  (h) halogens

Periodic Tabie of the Elements
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7. For the element Se the Period number is (a) [ (4) or (VIA) 1 (circle one) the Group number is ®rE
or (VIA)] (circle one) (4 pts, 2 pts each)

8. Complete the following for the element given by consulting the periodic table: Ge has (10 pts, 1 pt

each blank)

atomic number (give #) atomic mass {give #)
# protons (give #) # clectrons (for neutral atoms) (give #)
# neutrons (give #). (show work for last part) (1 pt show work)

charge on the element (in its most common ionic state) is (show work or explain) (1 pt
show work)

‘The molar mass of the element is (give number).

A mole of the element above has atoms (give number).
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PartIII.  Long Answer Please show work for full credit and to receive partial credit. (34 pts)
“x¥* Please attempt every problem for partial credit. You will get no partial credit if you just rewrite
the question with no change in anything, ***x

1 Convert the following using dimensional analysis. Show work for partial and full credit. If you
come up with the final correct numerical answer but show no work, you will lose all points, (17 pts)

Convert 73.4 kiloliter / seconds to cups per hour (1.06 quart =1 Liter, 4 cups = quart)
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2. Usethe deﬁ{nition of the mole to answer this question. Show work for partial and full credit. If you
come up with the final correct numerical answer but show no work, you will lose all points, (17 pts)

If you have a piece of pure platinum (Pt) which occupies a volume of 1.73 cups, how many atoms of Pt do
vou have if the densitéy of Ptis 21.4 g/ mL (use density as a conversion factor)? (4 cups = 1 quart, 1.06 quart

=1 Liter, 6.022 x 10% = Avogadro’s number)

3
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BxamI General Chemistry I Lecture Spring 2014 1/28/14 Tuesday form 9:55amB Dr. Hahn Exam#

Name (print) Name (sign)

Please show work for partial credit and full credit on the Long Answers and in some of the Short Answer Questions. Multip
choice questions have no partial credit.  Please write anything you want graded legibly.  TfT cannot read your work, I
obviously cannot grade it. (1 pts print and sign exam) Tf you run out of space, please continue on the back page of the
exam and clearly tell me where the remaining answer can be found. Avogadro's number = 6.022 x 1023

PartI MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question. No
partial credit for MC. (2 pts per question, 24 pts pts total)

1) Which of the following contains the MOST atoms? You shouldn't need to do a calculation here. 1)
A)10.0g Mg B}10.0gCa C) 10.0gRb D)10.0gCs E)10.0 g Ne

2) Which of the following elements is a metal? 2)
AYAs B) Kr Qs D) Br E) Fe

3} A substance that can't be chemically broken down into simpler substances is 3

A} an element.

B) a heterogeneous mixture.
C) a homogeneous mixture.
D) a compound.

E) an electron.

4y How many significant figures are in 0.00523980mL? 4)
AY7 B) 4 )3 D)& E} 6
5) Which of the following are examples of physical change? 5)

A) water freezes

B) water (solid) to water (liquid)

C) saltis dissolved in water

D) melt solid gold to liquid gold

E) All of these are examples of physical change.

6) Todine belongs to the group of the periodic table. 6)
A) alkaline earth metal B) halogen
() alkali metal D) noble gas
7) Determine the number of protons, neutrons and electrons in the following: 7)
40 X
18
A)pt =40 n®=22 e~ =18
Bypt=22 n®=18 e~ =18
C)p*=18 n®=22 e~ =18
D)p*=18 n°=22 e =40
E)pt=18 n®=18 e =22
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8) Ag is an example of
A) a homogeneous mixture. B) an element.
C) a heterogeneous mixture. D) a compound.

9) What symbol'is used to represent the factor 1037
A} micro - B) nano C) Mega D) kilo

10) Identify an anion.
A) An atom that has lost an electron.
B) An ator{'i that has gained an electron.
C) Anatom thet has gained a neutron.
D) An atom that has lost a neutron and a proton.

11) The statement, "In a chemical reaction, matter is neither created nor destroyed" is called
A) the Law!of Conservation of Mass.
B) the Lawrof Definite Proportions.
Q) Dalton's' Atomic Theory.
D) the Scierntific Method.
E) the Law of Multiple Proportions.

12) The recémmerided adult dose of Elixophyllin®, a drug used to treat asthma, is 6,00 mg /1000 g of
body mass. Calctilate the dose in milligrams for a 115-1b person. 1 b = 453.59 g

A)318, B) 24 Q) 3.1x 105 D) 1,521 E)15

10)

11)

12)
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PartII Short Answer: Write the word or phrase or circle the choice that best completes each
statement or answers the question. Some questions may require that you show work. H vou do not
show work, you may lose points. Even on questions which do not require work, if you legibly show
work, you may get some partial credit. (42 pts)

1 From the given list, circle all elements. You may want to look at the periodic table if you are
unfamiliar with the symbols for the elements. (5 pts, 1 pts each)

AgBr  Fe Si CH, N»

2 Salt in water is an example of a [ (heterogenous) or (homogenous) ] mixture (circle one) (2 pts)
3 metric conversions (6 pts, 2 pts per blank)

() gram = one KiloGram

(b)  rewrite what you wrote in: (a) as 2 possible conversion factors with a numerator and denominator
(put the numerator over the line and the denominator under the ling)

Conversion factor #1 = Conversion factor #2 =

4 If the number that comes out of your calculator is the following, give the final correct number taking
into account the significant figure and rounding up rules. Show work. (3 pts)

50227/ (73.2 — 0.08) = 0.686911925

5 For the following either fill in the blank with the element symbol or the word for the element name. (I
do not count off for small spelling errors in naming elements.) (6 pts, 3 pts each)

@] silver
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6. Fillin the blank with one of the following letters which best fits the circled portion of the periodic
table. The letters may be used once, many times or not at all: (6 pts total, 3 pts each)

(a)transition metal elements  (b) chalcogen {c) main group element (d) alkali metals
(e) actinide / lanthanide () alkaline earth metals (g) transition metal element  (h} halogens

Periodic Table of the Elements
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7. For the element P the Period number is (a) [ (3) or (VA) ] (circle one) the Group number is (b) [ (3)
or (VA) ] (circle one) {4 pts, 2 pts each)

8. Complete the following for the element given by consulting the periodic table: Sr has (10 pts, 1 pt

each blank)
atomic mass (give #) atomic number (give #)
# protons (give #) # electrons (for neutral atoms) (give #)
# neutrons (give #). (show work for last part) ( 1 pt show work)

charge on the element (in its most common ionic state) is (show work or explain) (1 pt

show work)

The molar mass of the element s (give number).

A mole of the element above has atoms (give number),
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PartIIL.  Long Answer Please show work for full credit and to receive partial credit. (34 pts)

whEK Please attempt every problem for partial credit. You will get no partial eredit if you just rewrite
the question with no change in anything, ****

1 Convert the. ;followmg using dimensional analysis. Show work for partial and full credit. If you
come up with the fmal correct numerical answer but show no work, you will lose all points. (17 pts)

Convert 27.88 miﬂjLiter/ hour to quarts per second (1.06 liter = 1 quart)
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2. Use the ‘:deﬁﬁition of the mole to answer this question. Show work for partial and full credit. If you
come up ‘with the final correct numerical answer but show no work, you will lose all points. (17 pts)

If you have a piece of pure iron (Fe) which occupies a volume of 25.7 gallons, how many atoms of Fe do you
have if the density of the Fe is 7.86 g/mL (use density as a conversion factor) ? (1.06 liter = 1 quart, 4
quarts =1 galion, -6:022 x 10 = Avogadro’s number)
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